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Station |'sublL L | Sub angle| defl angle | Inc. Chords | Total Deflection | Total Chord
3805.8 44.2 44.2 9.724 4,862 44.15 4,862 44,15

3850 50 94.2 11 5.5 49,92 10.362 93.69

3900 50 144.2 11 5.5 49,92 15.862 142.37

3950 50 194.2 11 55 49,92 21.362 189.74

4000 50 244.2 11 5.5 49,92 26.862 235.36

4050 50 294.2 11 5.5 49,92 32.362 278.81

4100 54 299.6 1.188 0.594 5.40 32.956 283.36
4105.4
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Station | sublL L |Subangle| defl angle | Inc. Chords | Total Deflection | Total Chord Azimuth
3805.8 44.2 44,2 9.724 4.862 44,15 4.862 44,15 55.33
3850 50 94,2 11 5.5 49,92 10.362 93.69 60.192
3900 50 144.2 11 5.5 49,92 15.862 142.37 65.692
3950 50 194.2 11 5.5 49,92 21.362 189.74 71.192
4000 50 244.2 11 5.5 49.92 26.862 235.36 76.692
4050 50 294.2 11 5.5 49,92 32.362 278.81 82.192
4100 5.4 299.6 1.188 0.594 5.40 32.956 283.36 87.692
4105.4 88.286
D= 22
R= 260.44
7. twabton wHEEL-
Station | 'sublL L |Subangle| defl angle | Inc. Chords | Total Deflection | Total Chord | Azimuth
3805.8 44.2 44.2 9.724 4.862 44,15 4.862 44.15 55.33
3850 50 94.2 11 55 49,92 10.362 93.69 60.192
3900 50 144.2 11 5.5 49.92 15.862 142.37 65.692
3950 50 194.2 11 55 49,92 21.362 189.74 71.192
4000 50 244.2 11 5.5 49,92 26.862 235.36 76.692
4050 50 294.2 11 55 49,92 32.362 278.81 82.192
4100 5.4 299.6 1.188 0.594 5.40 32.956 283.36 87.692
4105.4 88.286
D= 22
R= 260.44
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